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M M
A - 3A% 9. 42 _ 22. 800 26, 700 13. 350 20, 025
2 | smm 3A% 9.10 Z 26, 300 27. 000 13,500 20, 250
3 | mmEs 3A% 7.50 - 25. 200 18400 9. 200 13. 800
1 | mms 3A% 5.70 - 18. 700 13,900 6. 950 10, 425
! (5.90) (19, 200) (14, 200) (7,100) (10, 650)
N — 3A= 6. 39 - 24300 18200 9100 13. 650
6 | mam | 392 8. 17 - 26. 600 20, 300 10,150 15225
R - 3A= 8.30 - 28. 500 21, 000 10, 500 15750
s | #um 3A5= 7.05 _ 22. 000 26, 000 13,000 19. 500
o | msm 3A= 7.90 _ 28. 800 21, 600 10, 800 16, 200
0| xmm 3A= 7.70 Z 29. 200 22. 000 11,000 16, 500
I — 3A% 8.30 Z 26, 400 24. 000 12.000 18,000
2 | grega | 3F% 8.50 Z 26, 900 26, 000 13,000 19. 500
13 | mm 35 8.00 Z 26, 600 20, 600 10, 300 15. 450
1 | ehuigEr 3A% 7.40 - 29. 700 21, 800 10, 900 16, 350
I 3A% 7.35 - 23. 500 27. 000 13,500 20, 250
I 35 5.00 - 19. 800 15,000 7 500 11,250
N 3A% 5. 80 - 21. 300 17.000 8 500 12750
I — 3A= 6. 38 _ 23. 800 5. 600 2 800 4. 200
B 3A= 6. 30 _ 26, 200 19. 200 9. 600 14400
0 | x5mE | 3% 7.70 _ 32. 000 23. 000 11,500 (ggg?
1 | srem 3A% 5. 80 Z 21, 600 19. 800 9. 900 4. 950
e 3A% 5.90 - 10. 600 16, 000 8 000 12000
2 | &rar 3A% 8. 40 - 22.100 22. 800 11,400 17.100
> (4 /53 (6. 60) (20.00)|  (21.600)| (19, 800) (9. 900) (14, 850)
o | =am 35 6. 60 - 25. 000 20, 500 10, 250 15 375
=1 (6. 40) (22,400)| (19, 600) (9. 800) (14, 700)
N — 35 7.30 - 31, 500 21, 400 10, 700 16, 050
% | e ar 3A= 7.30 - 30, 300 21, 800 10, 900 16, 350
27 | sper 3A5= 7.23 _ 29. 800 21, 400 10, 700 16, 050
2% | @ 3A= 555 _ 23. 800 16. 500 8 250 12 375
(453 (7.20) (27.000| (23.200)| (17, 600) (8, 800) (13, 200)
29 | =nar 3A% 6. 56 Z 28. 000 19. 200 9. 600 14400
— (5. 80) (24,000)| (22, 800) (11, 400)
. 35 7.00 = 26, 000 20, 600 10, 300 15. 450
30| R 6 60) (24,000)| (19, 100) (9.550)| (14, 325)
3A% 6. 40 - 26. 000 18,000 9.000 13.500
31| R 7. 00) (27,000)| (18, 900) (9.450)| (14, 175)
3 | BEBE | 3FHR 7.00 - 24. 000 24. 800 12,400 18600
LEES (7.20)
BT {E 7.16 _ 25 228 20, 534 10, 267 14. 580
(AT SHSEECHSTIEREERRSEERKIRE

SHISE108278IRAE



SM5E108278IR%E

BHEREXIESES N EIRTE 5

RIRE SR pem e | FTREIE | EEDE | 9S24 | TSEIZ THABDS S pm e | FTREIER | EDIE | WSE5E | TEH%E
gzepsst | 7 ﬁJiz ﬁf:ﬁ%li iﬂ%%l% J?%’%J?g e ﬂ_ﬂﬁ ﬁwﬁ%% szt | P ﬁj;z ﬁfé%];ﬂg iﬁ%%lﬁ& 4:%%1%
, 3A= 2.79 _ 6. 700 8. 400 4. 200 6300 2A= 2.08 - 13. 600 -

1 iz
2 | sm | 3A% 2.80 Z 8. 300 8. 200 4100 6 150] 3 /= 2.50 - 9 200] 6,900
3 | mms | SP% 270 Z 8. 400 7.200 3. 600 5 400 3 5= 2.20 Z 10, 800] 5, 200
1 | mmm | 3R 220 - 8. 200 6. 000 3. 000 4500 3/ 230 - 10, 600] 5, 700

! (2. 40) (8,400)[ (6,200 (3,100) (4, 650)

5 | wgs | 3P% 2 37 - 8. 800 6. 600 3. 300 4950 3H= 1.71 - 7 400] 7,000
6 | mapsr | 392 2 47 - 8. 300 6. 300 3. 150 4 725 3/ 1.73 - 8.200] 4, 200
o s | 25R 250 Z 9 800 - - —| 25 250 - 14000 -
s | #wm | 352 2.90 _ 8. 100 7800 3,900 5 850] 34 1.75 - 7.800] 7,800
o | msm | 5% 290 _ 10, 500 7800 3,900 5 850] 34= 2.60 Z 11.800] 5, 600
- 3A 2.50 Z 10,100 7400 3,700 5 550] 34 2.00 - 10, 300] 5, 800

10 XEm
1 | g | 2R 3.00 Z 6. 500 7200 3. 600 5 400] 3H= 3.30 _ 9.500] 5,900
12 | e | 3R 2.60 Z 8. 500 7000 3. 500 5 250] 3H= 1.80 _ 9 400] 6, 000
3| mmm | AR 230 - 8. 200 6. 200 3,100 4 650] 3H= 2.10 - 8.200] 4,300
1 | wwm | 2FR 270 - 10, 000 7 400 3,700 5 550] 35= 230 - 11.500] 5, 400
5 | wpE | 3P% 245 - 6. 500 7000 3. 500 5 250 35= 1.50 - 10, 000] 4, 500
6 | xim | 3P% 260 - 10, 500 7. 500 3. 750 5625| 3A= 1.80 - 9 300] 4,500
7 | mam | 3P% 270 - 9 500 7 600 3. 800 5 700 35 200 - 9.900] 5,400
8 | mmE | AR 2. 21 - 7700 2800 1,400 2 100] 3 /= 238 - 9.800] 2,800
19 | smaa | 3P% 250 _ 10, 400 7600 3. 800 5 700 35 2.10 - 11.100] 5, 100
0 | xpmE | A% 250 _ 10, 000 7000 3. 500 (922? 3A= 2.20 - 12.000] 6, 000
1 | mwE | 3P 275 Z 9800 7800 3. 900 1.950] 35z 2.00 - 10, 600] 7, 000
2 | @i | 3P 2. 40 - 5 000 7 000 3. 500 5 250 3A= 2.20 Z 5 400] 6, 000
2| mrm | 3FR 290 - 9 300 9. 400 4700 7 050| 3 /= 220 - 9 800] 7,000
* (4 A=) 2.60)| (8.20)| (9,000)| (8,400)| (4, 200) (6, 300)| (4 A=) 1.90)[  (6.60)| (9,600)| (6,000)
| =ag | SR 2 56 - 9900 7300 3. 650 5 475| 3A= 1.86 - 9 200] 4, 700
= (2. 40) (8.800)| (6,800)| (3, 400) (5. 100) (1.70) (8,200)| (4,200
3 A= 2. 50 - 10, 500 7100 3. 550 5325 3A= 240 - 12 000] 6, 000

25 | JI|FEHET
% | mmE | SAR 250 - 10, 200 7300 3. 650 5 475| 35 220 - 11.400] 5, 800
27 | e | SR 2. 53 _ 10,100 7300 3. 650 5 475| 35 227 - 11.300] 5, 800

= (4 5%)
2% | rmE | 3P 2. 65 _ 9900 6. 200 3,100 4 650] 3H= 2.78 Z 12.000] 5, 700
(4 A3 0.80)| (7.00)| (6,000)| (4 400)| (2, 200) (3,300)| (4 /=) 1.50)|  (8.00)| (7,000)| (3,900)
29 | =mE | 3% 2. 84 Z 11,800 8. 000 4. 000 6.000] 3/ 2.40 - 12.000] 6, 000
— (2. 30) (8,400)| (7,200  (3,600) (1. 60) (8,400)| (4, 800)
0 | weE | SR 250 - 9000 7400 3,700 5 550] 34= 2. 40 - 12.100] 6, 500
= (2. 30) (7.900)| (6,300)| (3,150) (4, 725) (2. 30) (11,200)| (6, 400)
21 | gmE | 3R 2 55 - 9 650 7600 3. 800 5 700 3A5= 210 - 12.100] 5, 900
2 | BR[| 3AR 230 - 8. 300 8. 400 4 200 6300 3/ 200 - 9 700] 6, 600
LEES (2.50) (2. 20)

ER LT 258 0.00 9,014 6. 994 3. 497 4 987 218 0.00 | 10,375 5 347




